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Geometry Honors Review for 8.4 and 8.5

Decide if the following statements are true or false. If the statement is false, cross out a word and
change it to make it a true statement.

The diagonals of a rhombus bisect each other. Trué

The diagonals of a parallelogram are congruent. Square 0 Redrangie
Arhombus is a sguare: Paralietogram

A square is a rectangle. Trug,

The consecutive angles of a rectangle are congruent. Supplementury
The eenseeutive-angles of a rhombus are congruent. 0ppo.§|f€
Adjacent sides of a rectangle are congruent. oppo&'.*rq,

The diagonals of a rectangle are perpendicular. (nngmm\’

The diagonals of a rectangle bisect opposite angles. Rhompus
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10. A rectangle is equilateral. square,
11. BOXE is a rhombus. If SB =4 in. and ES = 6 in. find the perimeter of BOXE in simplest radical
form.
et gt p= 4(2{13)
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12. Using the same figure above, if m£1 = 25°, find the measures of:
a) £2.:=435° b) #3-05" ) z4 -0S"  d) /5 =90

13. Using the same figure above, if m£1=3x+1° and m£3 = 7x-11° find the value of x.
3m+1x+|:q0/ l0X<100
10X -10:=90 ix:\O ’

14. Draw rectangle QRST with diagonals intersecting at Point P.

If mZPTS = 34° and QS = 10, find the following measures to the nearest tenth:

a) mzsRT=_56" b)ap=_5  Jar=_%3  dymzapr=1\2 e)rp=_ 5  fjrs=_5Y
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15. Draw square BENT with diagonals intersecting at point L, 0 . = N
X4 = 4 > [x9, X6 | yLag. -ay [y=-1ay> m;;‘j::: 2
B0 / S g0 Y G
(xeq)(x)20 - (Yy#12)(y-3) =0 —

If BE=y>-36, EN = -9y and mZBNT =( x*+4x)°, find x ,y and ET. N

sne 8N = 10842 and dagonals are %, +hen lgrz\og{a Z T X4UX

16. Draw parallelogram ABCD with the diagonals intersecting at point E. AB=4x+y, AD=2x+y,
m/ZBAD=(3y’+41)°, BC=6 and DC=8. Is ABCD a rectangle? Why or why not?
XY=l Xty =§ % L &

i meA=3() s 4l
cb-dX =¥~ -
; Y= A= g ey

S g
kgt Y50 not o rectangie
btax =g ] 3:4]

blt meA +9u° A
ax=2 3y"|
(x:A]
17. Draw rhombus ABCD with the diagonals intersecting at point E. If ZBAC = 53° and DE=8 find
the following:

x+y p

E Xzl

C
54°
A diagonals bisecs angles
dagon o fun3 = X
and opp angles are = h LE 8
! Xegran37
X:(
a) mZDAC:5%"  b) mzADC = 14" ¢)msaeD=C d)pB:lo e)Ac:1d  f) AE =
18. WXYZ is a trapezoid with bases WZ and XY and midsegment MN. If MN = 10x+3, WZ = 11, and
XY = 8x+19, find the length of the midsegment. % g% t\9q Y
X3 = S(11+6x+14) bx+d =15 MN = 10(2) +3 Wi WX+ \ N
b X=
Wowd = L (8x+30) A5l [MN=23 ’ l
0K t3 hXHS I":a_) N i t
19. In trapezoid FGHI, FG I IH, Jisthe midpoint of FI and K is the midpoint of GH. If JK = 7,
FG=x*+2, and IH = x* +2x—12, find the value(s) of x. E X+ A G
.. !‘ ———-—-‘_—*——-——

1= E(antrax-a) x4, (%23 ] /

=L N ) ES 2
133 (ax+an0) not g colunon J

1%+ X-5 Sinte

: () 2(4)-13 | >— \ U
0=X+X 13 = - X42x-12
()\*M )(x,g) 20 and there cant
be negahve
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20. Isosceles Trapezoid TRAP has legs of length 10 and midsegment MN. TR = 12 and the perimeter

of TRNM is 37. Please find the perimeter of NAPM.
3

MN = 33-13-5°5 152 5 (1 + PA) ST : R
97
MN = 15 . M/ 15 \ N
30:13+Ph .
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21. WEST is a kite. Find the missing angle measures.

lmLE :?go}

kg 8k 107 =360
At+983:360
X:17
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22. The longer diagonal of a rhombus measures 42 cm. One side of the rhombus measures 29 cm.

Find the length of the shorter diagonal. 0 eacn hai € 1§ 20 em 29um
e l._ . 2 oy m :
< 2 War=29 diagenal = 30+40 W
4 g4 |W e
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A= 40V 2%um
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23. Find the side lengths of the kite below. Please leave in simplest radical form.
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24. Graph the following points. Give the most specific name for the quadrilateral. Include complete
explanation including work. Find BD and AC. What additional information do these lengths

provide about the quadrilateral? é‘:
A(-1,5), B(2,5), C(6, 1) and D(-3, 1) & i {\
Slopeot AB= 54 0 3 AN
w3 N\ mer A 1. AN
Yz 0 ,
Slope ok Do= 1-1 . 0 - 4
364 b B i e B B
ABCD 1§ a hapezoid Sina the bases are parallel 8
B - i(‘3-1)1+(\-3)1 )2 = aseib 260 5
»B‘F

Ae= [y ()2 = dE () = Favio = (o5

Sinw diagonalf are NOF congruent, e froperoid ¢ OoF 1sosceles



